Physics _ o
Combination Circuits Worksheet / /,_ y )

Section 1 — Complex Circuits (Networks) /
Find all values for the following circuits. [
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R1 = 100Q }
100V — R, = 1500 Q R, = 1500 Q
T
R,=150Q ( ‘
6/) V= }"”O V.= 10 V= 7§ V3=_L->/ V= /> \/33 = 75V
@D It = A ILi=_1 Iz="°S I3=__‘0>/ L=_. | T - '/A
(L) Ry=_/000 Ry=100 Ry= 4500 Ry=;500 Ry=15U Koy - 75002
> — W A
RL: 2500 R3=500.Q.
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Rr=_J000 R=250 R,;=1500 R;=_S00 R,= ;090 Ryy = 1500 Rase *
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R, = 5000 ‘ R,=5000

R, = 6000 Q§ R, =1000 €
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R, = 15000 R, =1500 &
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400 V

Vo oyvp=Y9¢ yv=230 y,2200 v,2323 v,= (7 v,=100.5y,=/50 V3200 v 2200
A Te= ol L=_.] L=.023 Li=_,9¢7 L,=.0¢7 L=_%7 Ii=_o] Tus %7 1;.,*,)
#L Ry=140% R;= 500 R;=¢000 Ry=5V0 Ry=_jpov Rs=_159 Re=73Y Kps 3000 £, 4y5200,
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R, = 25000

100 V = R, = 10,000§ R, = 1000 Q
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R, = 500Q R, =1500
Vi Vi Va=___ Vi=___ V= Ve=___ Yiy" V,5v
Iy = — I = _ L= L= L= Is = Jpy* Ic;"
R = R, = Ry = Rs = Ry = Rs = Kpy * Kazy




Complex circuit worksheet S /v-/"° -3
)

on baock 1[,37/,zz/,32 "a)
1) Determine the voltage and current in each resistor. 2 /b /Z > /’ 7— S
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2) Determine the power used in the circled resistor
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3) The current flowing through the 10 € resistor is 0.5 A. Using the circuit below, determine the current and

voltage in the 8 O and 4 Q resistor.
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___\4}{\__
Voltage __\/\/\—\/10\6\__

16 Q

Source

SOLUTIONS:

1) a)
I5Q:036A,545V
25Q:0218A,545V
17€2:032A,545V
5Q:09A,45V

b) 17Q:37V,02A
25Q:3.7V,0.15A
15Q:21V,0.14 A
12Q:1.7V,0:14 A
50:05A,25V
8Q:4V,05A

2) P=0.108 W (rounding can have a big effect on your answer)

3)8Q:13V,1625A
4Q:85V,2.125A



